
j8f g+ )@ sf] ljljw of]hgf tyf ljlgof]lht ah]6 cf= j= @)&$/&% 

qm= ;=  lzif{s  of]hgfsf] ljj/0f  ljlgof]lht ah]6 

1    

s= zlQmgu/ 6f]n cho k'gsf] 3/ b]vL pQ/ 

tkm{ hgPstf ;f= a= p= ;= sf] ejg ;Dd / 

;f] b]lv blIf0f d'ufnL 6f]n x'b} k'lgdn /fjt sf] 

3/ ;Dd / ;f] ;f= a =p= ; sf] ejg b]lv 

kZrLd @ g+= k|x/L lj6 ;Dd af6f] :t/g]GgtL, 

xf]dkfO{k / uf|e]n ug{ .  
        
1,400,000  

v= nIdL df= lj= ab{xjf b]vL kZrLd ltnsk'/ 

hf]8\g] af6f] sf] :t/f]GgtL ug{ .          
1,000,000  

u= lz4gu/ cfdf ;d'xdf] ejg b]lv blIf0f k'j{ 

;;:qsf] l;dfgf x'b} s[i0f /fgf sf] 3/ ;Dd / 

z;:qsf] pQ/ kZrLd s'gf b]vL kZrLd x'b} 

dx]Gb|\ /fhdfu{ ;Dd hf]8\g] af6f]sf] :t/pGgtL / 

u|fa]n ug{ . 

        
1,000,000  

3= ljsfzgu/ l8= l;= :6f]/ b]vL k'j{ pQ/ x'b} 

dfg axfb' yfkf sf] 3/ ;Dd / ;f] b]vL pQ/ 

ls/0fgfnf ;Dd af6f]sf] :t/f]pGgtL / u|fa]n ug{ 

.  

        
1,000,000  

ª= uf}/L8f8f 6f]n af6f] u|fa]n tyf :t/pGgtL 

ug{ .  

          
500,000  

r= k|]dgu/ 6f]n >Li6L c6f]kf{6 b]vL pQ/ lzj 

k|f= lj= ejg x'b} pQ/ s]= lj= yfkf sf] 3/ ;Dd 

af6f]sf] :t/f]GgtL / u|fa]n ug{ . 

          
500,000  

5= lz4L ljgfos u|fdL0f ;fd'blos jg sf kfs{  

lgdf{0f :ynsf] kSsL u]6 lgdf0f{ ug{ .  
          
500,000  

h= d'lQmgu/ /fdnfn yf?sf] 3/ b]vL pQ/ 

/fhf/fd yf? Sf] 3/ x'b} 6fj/ 8fF8f ;Ddsf] af6f] 

u|fa]n ug{ .  

          
500,000  

em= j8fdf u|fa]n e{Psf af6fx?df ePsf 

vfN6fv'N6Lx? k6fg ug{ .  
          
500,000  

~f= dgsfdgf rf]s b]vL xs{ axfb'/ zfxLsf] 3/ 

b]vL k'j{ bIfL0f x'b} h'+u] bnf{dLsf] 3/ x'b} z+s/ 

/fO{; ldn ;Ddsf] af6f] u|fa]n ug{ .             
300,000  



 

 

6= k|]dgu/ 6f]n jf8{ g+= !! / @ sf] l;dfgfsf] 

af6f] u|fa]n, df6f] k6fg nufot :t/pGgtL ug{ .  

           
250,000  

2 3]/af/ 

;DaGwdf .  

s= zlQmgu/ 6f]ndf ePsf] s/La @ s7\7f 

;fj{hlgs hUuf -k'j{–af6f], klZrd–nIdL zfxL, 

pQ/–af6f] / blIf0f–df:6/sf] 3/ ;Dd 3]/af/ 

ug{ .  

           
150,000  

v= cfgGbgu/ :yLt e'jg]Zj/L dftf sf] dlGb/ 

tf/af/ tyf 3]/af/ ug{ .  

           
150,000  

u= k|dgu/sf] b'uf{  dlGb/ 3]/af/ ug{ .            
150,000  

3 cGo of]hgfx? 

.  

s= ljsfzgu/ hgtf k|f= lj= sf] k|fËu0fdf df6f] 

k6fg ug{ .  

           
100,000  

v= k|]dgu/ lzj k|f= lj= dd{t tyf z}lIfs 

;fdfu|L v/Lb ug{ . 

           
100,000  

u= d'lQm k|f= lj= sf] ejg dd{t tyf kmlg{r/ 

vl/b ug{ .  

           
100,000  

3= cfsl:ds sf]if ;~rfng ug{ .               
119,632  

  hDdf 

    
8,319,632  


